Irregular Verbs
In the sentences below, circle the correct forms of the verbs in parentheses.

1) American bicyclist Lance Armstrong (winned, won) the 2,287-mile Tour de France in 1999.

2) [image: image1.jpg]


Several years earlier, doctors (gived, gave) him less than a 40 percent chance of surviving cancer.

3) Armstrong (chosen, chose) an aggressive treatment plan.

4) Now Armstrong has (beat, beaten) the disease.

5) After the cancer, he (began, begun) his career all over.

6) The experience has (gave, given) him a different outlook.

7) It also has (leave, left) him with a leaner body.

8) Armstrong’s lighter weight (pay, paid) off when he had to cycle through the mountains.

9) So (did, done) his training, in which he cycled the toughest portions of the course.

10) Armstrong’s amazing victory has (teach, taught) other cancer patients to maintain hope.

In the sentences below, circle the correct forms of the verbs in parentheses.

1) The judges have (chose, chosen) the finalists.

2) Our mayor has not (broke, broken) any promises.

3) Everyone (drank, drunk) milk with the sandwiches.

4) Soccer fans (began, begun) to fill the stands an hour before the game.

5) Have you (brung, brought) your application with you?

6) We (did, done) an experiment showing the effects of global warming.

7) Rabbits (ate, eaten) most of the lettuce in our garden.

8) I haven’t (gave, given) my poetry reading yet.

9) My summer vacation certainly (went, gone) quickly.

10) Very few people (knew, known) about the secret room.

